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Jor the questions

Answer either in English or in Assamese
1. Answer the following questions : 1x10=10
o @RS Tey

(@) What is cardinal utility?
RIS SIS &9

(b) What is the marginal rate of substitution
between two perfectly substitute goods?

w1 7 Rew AR cvae Afve dfeesd 21 &
7'q9?
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(d)

(e)

(g)

(h

(i)

G
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(2)

Define income effect.

s e ke T |

What is meant by a person be ‘isk
averse’?

e GorE IF S qed & T T 2

Why is the average fixed cost curve
rectangular hyperbola?

51T &1 9 (@9ISE SHey o_ge 7 = 7

When is the long-run average cost curve
L-shaped?

TN 5TS T ROl (A L-S{prod 24 ?

What is production function?

e IR 2

Define expansion path.

SRR Y9 AR ol |

State the concept of shutdown point of a
firm

<51 2B Tesie 7= R AR SeErd <1 |

Define opportunity cost.
STCEI! 979 JgeR o |

( Continued )

=%

(3)

2. Write short answers of the following
questions : 2x5=10
e 2PACAIRE B Ted fr

(a) What is meant by slope of a budget line?
ICEG (41 GO Bl e & @ T 2

(b) Distinguish between gross demand and
net demand.

o BIw S 9% IR qere A1 fefy <4 |

(c) What are short-run and long-run costs of
production?

ZEIIE SF AP SRATH IR T 5 2

(d) Establish the relationship between total
utility and marginal utility.
P el wF 2ifEe oo Tere e
B\ 91 |

(e) State the concept of optimum firm.

J AfSoE 4RETCoT o < |

3. Answer any four of the following questions :
5x4=20
SO 2GRS RCFIeA vt Ted i

(a) What is inferior good? How is it different
from normal goods? Show it with the help
of indifference curves.

e Al 50 Fefte AT B (@EME
e 7 AT @R SRTe (e |
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(b)

(c)

(@
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(4)

Discuss how Slutsky equation explains
the relationship between change in price
of a good and demand for it.

R e (eTE T ARTS S v
Hqrere =9I T FiARe, SCeAw-1 F41 |

Suppose the purchase of a lottery ticket
is under consideration of an individual.
Let the prize be ¥ 5,000 which he will get
if he wins and suppose if he losses, he
will get the consolation prize of g 10.
Further suppose that the probability of
his winning is 0-6. Find expected money
value of lottery ticket.

W@ 2'H o TR b1 w'BR HFh [ I
oo sz | 3 few were I (903
5,000 5% WFR R wF A A, 9@
10 531 FIpafa 3781 <419 | o 411 =S (@ TS
T SEATSl 25 0-6. 31’51 Bbeor AN
a1 o7 Sfered |

Define substitute and complementary
factors. Draw isoquants of perfect
substitutes and perfect complements in
production. Give examples.

s W% wfReRe SemeR e | o Rew
Wi 4 “IRoFT TAMES FTCAIRAR @31 ST 90
ELESE Rl

( Continued )

(e)

4. Answer the following questions :

(5)

“If there is free entry of new firms in the
competitive industry, price must fall to
the level of minimum long-run average
cost.” Explain.

w0, cofem W fren WLEEAE % IW @RH
ey flet 20T R 17 e <

Give the various concepts of production
costs in brief.

Teomm i fifen qRePE B oo

AR I T AT ) i

(@)

(b)
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“Revealed preference theory makes a
major advancement in the theory of
demand.” Discuss.

‘o FReE wectia sitw RRGR SEe
TafS ST IR0 1°7 SCErs= 47 |

Or / 991

Explain how indifference curve can be
derived using revealed preference theory.

ST TARFH G T2R® &FAe Ao (Hl
o9 #(fR, 10 4 |

How are average cost curve and marginal
cost curve derived from total cost curve?

10x4=40

10

5+5=10

T I @R O[] GO o I @9 S AR
W (RS2 S 4q1fS 27
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(6)

Or / |41

What is meant by optimum factor
combination in production? Explain with
the help of isoquant and isocost lines.

(7))

Does the production function stated in
the table exhibit diminishing returns? If
so, at what number of units of the
variable input do diminishing marginal
returns begin?

2+8=10 GRS TCHY T OIFRAS FIRPHEA ST
T TeoE Ceib IR R qE T STeeem afSwfere 2c 2 7 =, (o0g (P! RSN
I SIF TG (T4 STERS I 4 | SIRAR NI [T TP AT o =3
==?
{c) Explain the impact of change in rate of
interest on the consumers. Use (d) Critically discuss the law of variable
diagrams. 10 proportion. 10
TrER 8RS A TES ARSI dOR I AMRaGTTE o RGeS
91 | fog <R <A SCATAT 34T |
Or / =%l Or / J2Al
Fill in the blanks in the following table : What are isoquants? Show the
3+3+3+1=10 increasing, constant and decreasing
return to scale through isoquants.
SO SRR A SR 7T T : gh o
Number of Total Marginal Average AT @ [Fo  smiecm  @EW REE
variable inputs output product product S ICIEEE]
ARaET e P Beom | AT Seetr | o S LA, TR S S
IR 730 ST e |
& — 18 30
4 — 20 —
5 130 —_ — * & ok
6 - 5 -
b A1 1
i 195
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